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1. (c)

2. (c)

3. (c) Logic:

Column-wise: (First num-
ber × second number) – 2

= Third no.

First column:

(9 × 5) – 2 = 43

Second column:

(7 × 4) – 2 = 26

Similarly, for the Third col-
umn :

(9 × 7) – 2 = 61

4. (c)

Eggs

Millets

Ballons

Prisoners

5. (a) Rainbow appears in the
sky, similarly Tsunami oc-
curs in the sea.

6. (a) Trick : (No. of letters)2

SALT = (4)2 = 16

PICKLE = (6)2 = 36

Similarly,

PRESERVATIVE = (12)2 =
144

7. (c) I. F < C (True)

II. D < A (False)

8. (a) N
–

P

Q

T R

 +

–

+

N is the  mother's mother of
R.

9. (c)

  35 

30
40

30 
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Ranjita  is from (35 + 40) = 75
m from the starting point.

10. (b)  F O  W  C

K  W  L   I

+5

+5

+5

+5

+8

+8

+8

+8

–11

–11

–11

–11

+6

+6

+6

+6

11. (d)

12. (b)

13. (a) After  inter    changing   the
signs ,

77 – 7 + 17 × 49  7

= 77-7+17×7

= 77-7+119

=189

14. (a)

15. (a) FIRED  FISED  FITED  FIUED

16. (a) logic:

First  number ×2 + 4 = Second
number

 (18×2) + 4 = 40 42

17. (b) 9 × 2 + 1 = 19

19 × 2 – 2 = 36

36 × 2 + 3 = 75

75 × 2 – 4 = 146

146 × 2 + 5 = 297

18. (a) Formula,   = 30h –
11

2
min

According to question.

First angle

= 30 × 7 – 
11

2
× 0

= 210o

Other angle = 360 – 210

= 150o

19. (d) 5. Tangle

4. Taste

1. Triangle

2. Trimmed

3. Tussle

20. (a) Earth

Forests

Trees

21. (b) 16 – 18 × 216 ÷ 432 + 40 = 20

Interchanging × and ÷,

16 – 18 ÷ 216 × 432 + 40 = 20

16 – 
18

216
 × 432 + 40 = 20

16 – 36 + 40 = 20

56 – 36  = 20

20 = 20

22. (c) From  1st and 3rd  dice we have
,

2 
3 – 1

5 – 6 

23. (d)

24. (b) Here, number denotes the
number of letters in the
word.

6 2 1 9 Sachin is a cricketer

And,

2 6 4 6 He played from Mumbai

Similarly,

very famousMumbai is 6 2 4 6

25. (c)

Gaurav Hatim Varun Zaid Amit Yukti

Hence, Hatim is sitting
second to the left of Zaid.
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B-GENERAL AWARENESS

26. (d) Loan terms are the

requirements necessary to

fulfil the liability of a loan.

They include interest rate,

collateral, documentation,

and repayment methods.

These terms may vary based

on the lender, borrower, and

nature of the loan./½.k dh
'krZsa ½.k dh ns;rk dks iwjk djus ds
fy, vko';d vko';drk,¡ gSaA buesa
C;kt nj] laikf'oZd] nLrkosT+khdj.k vkSj
iquHkZqxrku fof/;k¡ 'kkfey gSaA ;s 'krZsa
½.knkrk] m/kjdrkZ vkSj ½.k dh çÑfr
ds vk/kj ij fHkUu gks ldrh gSaA

27. (c) Mohiniyattam is an Indian

classical dance that

developed in the state of

Kerala. It is considered one

of the two major dance forms

of Kerala, the other being

Kathakali./ek s fguhvêðe ,d
Hkkjrh; 'kkL=kh; u`R; gS tks dsjy jkT;
esa fodflr gqvk gSA bls dsjy ds nks
çeq• u`R; :iksa esa ls ,d ekuk tkrk
gS] nwljk dFkdyh gSA

28. (c) Part II (Articles 5-11) of the

Indian Constitution deals

with citizenship. Article 11

empowers Parliament to

make laws regarding

citizenship, under which the

Citizenship Act, 1955 was

enacted./Hkkjrh; lafo/ku dk Hkkx
II (vuqPNsn 5&11) ukxfjdrk ls
lacaf/r gSA vuqPNsn 11 laln dks
ukxfjdrk ds laca/ esa dkuwu cukus dk
vf/dkj nsrk gS] ftlds rgr ukxfjdrk
vf/fu;e] 1955 dks vf/fu;fer fd;k
x;k FkkA

29. (b) Sonam Lochar is the New

Year festival of the Tamang

and Yolmo communities in

Nepal, Sikkim, and

Darjeeling. It is celebrated

on the second new moon

after the winter solstice./

lksue ykspj usiky] flfDde vkSj
nkftZfyax esa rekax vkSj ;ksYeks leqnk;ksa
dk uoo"kZ mRlo gSA ;g 'khrdkyhu
laØkafr ds ckn nwljs vekoL;k dks
euk;k tkrk gSA

30. (a) Vermicompost is a type of

compost that uses certain

species of earthworms to

enhance the biological

decomposition of organic

waste./oehZdEiksLV ,d çdkj dh
•kn gS ftlesa tSfod dpjs ds tSfod
vi?kVu dks c<+kus ds fy, dspqvksa
dh dqN çtkfr;ksa dk mi;ksx fd;k
tkrk gSA

31. (b) The primary, secondary,

and tertiary sectors

represent different types

of economic activities.

Each sector is

interdependent for the

economy to function

efficiently./çkFkfed] f}rh;d
vkSj r̀rh;d {ks=k fofHkUu çdkj dh
vkfFkZd xfrfof/;ksa dk çfrfuf/Ro
djrs gSaA vFkZO;oLFkk ds dq'kyrkiwoZd
dk;Z djus ds fy, çR;sd {ks=k ,d
nwljs ij fuHkZj gSA

32. (d) The Himalayas are

geologically young and

structurally folded

mountains. Its outermost

range is called the

Shivalik, which is 10-50

km wide and 900-1100

metres high./fgeky; HkwxHkhZ;
:i ls ;qok vkSj lajpukRed :i ls
eqM+s gq, igkM+ gSaA bldh lcls ckgjh
J̀a•yk dks f'kokfyd dgk tkrk gS]
tks 10&50 fdeh pkSM+h vkSj 900
&1100 ehVj Å¡ph gSA

33. (a) The Kashi Vishwanath

Temple is one of the most

famous Hindu temples

dedicated to Lord Shiva. It

is located in Varanasi,

Uttar Pradesh, on the

western bank of the

sacred Ganga River./dk'kh
fo'oukFk eafnj Hkxoku f'ko dks
lefiZr lcls çfl¼ fganw eafnjksa esa ls
,d gSA ;g mÙkj çns'k ds okjk.klh
esa ifo=k xaxk unh ds if'peh rV ij
fLFkr gSA

34. (c) "Exam Warriors" is a book

written by Indian Prime

Minister Narendra Modi,

published in 2018./",XT+kke
okWfj;lZ" Hkkjrh; ç/ku ea=kh ujsaæ eksnh
}kjk fyf•r ,d iqLrd gS] tks 2018
esa çdkf'kr gqbZ gSA

35. (d) The Interim Government of

India was formed on 2

September 1946.

Vallabhbhai Patel was in

charge of the Home

Ministry, Information, and

Broadcasting Department.

/Hkkjr dh varfje ljdkj 2 flracj
1946 dks cuh FkhA oYyHkHkkbZ iVsy
x̀g ea=kky;] lwpuk vkSj çlkj.k foHkkx
ds çHkkjh FksA

36. (c) After the death of his

father, Akbar Shah II, on

September 28, 1837,

Bahadur Shah II, also

known as Bahadur Shah

Zafar, ascended the throne

of Delhi. He became a

symbol of unity during the

failed "Indian Revolt" of

1857 when the soldiers of

undivided India rebelled

against the British East

India Company./vius firk
vdcj 'kkg f}rh; dh e`R;q ds ckn]
28 flracj] 1837 dks cgknqj 'kkg
f}rh;] ftUgsa cgknqj 'kkg tiQj ds
uke ls Hkh tkuk tkrk gS] fnYyh dh
xíh ij cSBsA og 1857 ds vliQy
"Hkkjrh; foæksg" ds nkSjku ,drk dk
çrhd cu x,] tc vfoHkkftr Hkkjr
ds lSfudksa us fczfV'k bZLV bafM;k daiuh
ds f•ykiQ foæksg fd;kA
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37. (a) The Kadamba dynasty was

the first dynasty to be

established in Karnataka.

Their capital was Banavasi,

located in the North Canara

district. Mayur Sharma

who is also known as

Kadamba Mayurasharman

founded the Kadamba

dynasty in 345 AD. He was

originally from Talagunda

and transitioned from a

Brahmin to a Kshatriya./

dnac jktoa'k dukZVd esa LFkkfir gksus
okyk igyk jktoa'k FkkA mudh
jktèkkuh cuoklh Fkh] tks mÙkjh dUuM+
ftys esa fLFkr FkhA e;wj 'kekZ tks
dnac e;wj'keZu ds uke ls Hkh tkus
tkrs gS] us 345 bZ- esa dnac oa'k dh
LFkkiuk dhA og ewy :i ls ryxqaMk
ls Fks vkSj czkã.k ls {kf=k; cu x,
FksA

38. (a) The retina is a thin layer of

tissue at the back of the eye,

located near the optic nerve.

It functions by receiving

light focused by the lens

and converting it into

neural signals, which are

sent to the brain./jsfVuk vk¡•
ds ihNs Ård dh ,d iryh ijr
gksrh gS] tks vkWfIVd raf=kdk ds ikl
fLFkr gksrh gSA ;g ysal }kjk dsafær
çdk'k dks çkIr djds vkSj bls raf=kdk
ladsrksa esa ifjofrZr djds dk;Z djrk
gS] tks efLr"d dks Hksts tkrs gSaA

39. (b) Laterite soil, derived from

the Latin word 'later',

develops in tropical and

subtropical climates. This

soil is formed due to intense

leaching and heavy rainfall.

It is acidic, deep, and lacks

essential nutrients for plant

growth./ySVsjkbV feêðh] tks ySfVu
'kCn ̂ysVj* ls yh xbZ gS] m".kdfVcaèkh;
vkSj miks".kdfVca/h; tyok;q esa
fodflr gksrh gSA ;g feêðh rhoz

fu{kkyu vkSj Hkkjh o"kkZ ds dkj.k curh
gSA ;g vEyh;] xgjh gksrh gS vkSj
blesa ikS/ksa dh òf¼ ds fy, vko';d
iks"kd rRoksa dh deh gksrh gSA

40. (b) As per Article 80 of the

Indian Constitution, the

maximum strength of the

Rajya Sabha can be 250

members. Out of these, 12

members are nominated by

the President, while 238

are elected by the states

and union territories./Hkkjrh;
lafo/ku ds vuqPNsn 80 ds vuqlkj]
jkT;lHkk dh vf/dre lnL; la[;k
250 gks ldrh gSA buesa ls 12 lnL;
jk"Vªifr }kjk euksuhr fd, tkrs gSa]
tcfd 238 jkT;ksa vkSj dsaæ 'kkflr
çns'kksa }kjk pqus tkrs gSaA

41. (b) Fiscal policy refers to

government measures

involving taxation and

public expenditure to

stabilise or develop the

economy./jktdks"kh; uhfr ls rkRi;Z
vFkZO;oLFkk dks fLFkj ;k fodflr djus
ds fy, djk/ku vkSj lkoZtfud O;;
ls tqM+s ljdkjh mik;ksa ls gSA

42. (d) A soap molecule has two

distinct ends: a hydrophilic

(polar head) that interacts

with water and a

hydrophobic (non-polar

hydrocarbon tail) that

interacts with grease and

oil./,d lkcqu ds v.kq ds nks
vyx&vyx fljs gksrs gSa% ,d tyjkxh
(/zqoh; flj) tks ikuh ds lkFk fØ;k
djrk g S vk Sj ,d tyfojkxh
(xSj&èkzqoh; gkbMªksdkcZu iwaN) tks xzhl
vkSj rsy ds lkFk fØ;k djrk gSA

43. (c) According to Census 2011,

Goa has the highest

proportion of its population

living in urban areas, with

62.17% of its total

population residing in

cities./tux.kuk 2011 ds vuqlkj]

xksok dh vkcknh dk lcls vf/d
vuqikr 'kgjh {ks=kksa esa jgrk gS] bldh
dqy vkcknh dk 62-17» 'kgjksa esa
jgrk gSA

44. (a) Penicillium is a common

fungus that belongs to the

category of saprophytic

vegetation. It grows on

decaying vegetables, cut

fruits, bread, rotten meat,

leather, etc. It is commonly

known as blue or green

mold. Penicillium is

economically important in

the production of cheese,

organic acids, and

antibiotics. In the

ecosystem, it plays a

crucial role as a

decomposer, breaking

down decaying matter and

recycling nutrients./

isfuflfy;e ,d lkekU; dod gS
tks lSçksiQkbfVd ouLifr dh Js.kh ls
lacaf/r gSA ;g lM+rh gqbZ lfCt;ksa]
dVs gq, iQyksa] czsM] lM+s gq, ekal]
peM+s vkfn ij mxrk gSA bls vkerkSj
ij uhyk ;k gjk eksYM dgk tkrk gSA
isfuflfy;e iuhj] dkcZfud vEy
vkSj ,aVhck;ksfVd nokvksa ds mRiknu
esa vkfFkZd :i ls egRoiw.kZ gSA
ikfjfLFkfrdh ra=k esa] ;g ,d vi?kVd
ds :i esa ,d egRoiw.kZ Hkwfedk
fuHkkrk gS] lM+us okys inkFkZ dks rksM+rk
gS vkSj iks"kd rRoksa dks iqupZfØr
djrk gSA

45. (c) The Maginot Line is a

defensive line in France. It

was constructed in 1930.

The Maginot Line was a

highly developed series of

fortifications built to defend

against German attacks

during World War I/eSfxuksV
ykbu Úkal esa ,d j{kkRed js•k gSA
bldk fuekZ.k 1930 esa fd;k x;k
FkkA eSfxuksV ykbu çFke fo'o ;q¼
ds nkSjku teZu geyksa ls cpko ds
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fy, cukbZ xbZ fdyscanh dh ,d
vR;f/d fodflr J̀a•yk FkhA

46. (c) Sakshi Malik is the first

Indian woman to win an

Olympic medal in

wrestling. She won a

bronze medal at the 2016

Rio Olympics in the

women's freestyle 58 kg

category./lk{kh efyd dq'rh esa
vksyafid ind thrus okyh igyh
Hkkjrh; efgyk gSaA mUgksaus 2016 fj;ks
vksyafid esa efgykvksa dh ÚhLVkby
58 fdyksxzke oxZ esa dkaL; ind
thrkA

47. (b)

48. (c)

49. (a)

50. (c)

gSAgS C - QUANTITATIVE APTITUDE

51. (a) C.I = P –1
t

r
1+

100

   
   
   

C.I = P –1

3
r

1+
100

   
   
   

 = 38500 –1

3
8

1+
100

   
   
   

 = 38500 –1
3

27

25

   
   
   

= 9998.912
52. (c) 27A + 6B

 27 × 
1

4 7
 + 6× 

1

3 – 7

 27 × 
4 – 7

9
 + 6 × 

3 7

2



 3    4 – 7  + 3 + 7 
  

 21

53. (b) Put  = 0

 cosec 75o – sec15o – tan55o

+ cot35o 0
54. (b) Total no. of votes in 1985 =

8000
Invalid votes (in %) = 7 %

Valid votes (in %) = 93 %
Total no. of valid votes  =
93% × 8000 = 7440

55. (c) Area of the sector = 
360


r2

=
60

360
×

22

7
× 5 × 5

  13.09  13.1cm2

56. (d)16 of   of 
(3+3)}] (2  4 of 8)

 16 ofof}]
(2  32)

 16 ofof
1

2


2

32

 
  
 

 16 ofof
2

32

 
  
 

 16 of
2

32

 
  
 

 16 of
3

8


2

32

 
  
 

 1
3 32

8 2

   
   

      

 6
57. (d)BO and CO is the angle bi-

sector of CBD and BCE
respectively.

BOC = 90º – 
BAC

2


54o

58. (b) Initial : Final
 10      :   9
 10      :   9
 10      :   9
-------------------
1000   :   729
ATQ, 729  729000
1000  1000000
The original strength of the
army was 1000000.

59. (d)Ratio of principal of Raman
and Rahul = 3 : 5
Ratio of time of Raman and
Rahul = 12 : 10
Ratio of profit of Raman and
Rahul = 36 : 50 = 18 : 25
Required share = 10000

×
18

43
4186.04

60. (d)Let, a = equal side
b = unequal side
Perimeter of isosceles = 3.6
m
Area of isoscles 

=

2
2b b

a
2 4

 
 

  
 
 

ATQ, b = a – 0.3
and 3.6 = 2a+b
After solving above two equa-
tions, we get -
a = 1.3, b = 1

Area of = 
1

2
× 1 ×1.2

= 0.6 m2

61. (c)
x x

20 30
  = 9.5

5x

60
 = 9.5

5x = 9.5 × 60
x = 114 km

Now,
Total distance = 2x
= 2 × 114
= 228 km

62. (d)a +
1

a
 = 5

a3 + 3

1

a
= k3 – 3k

= 125 – 3 × 5
= 110

63. (c) 982Y5 = 9 + 8 + 2 + Y + 5
= 24 + Y
= 24 + 3 27
The smallest possible value
of Y which makes the digit
divisble by 9 is 3

64. (b)Accoding to question,
CP-385=(721-CP)×3/5
 5CP-1925= 2163-3CP
 8CP=4088

 CP = 511
65. (d)A : R

7 : 4
According to question,

7x 3 5

4x 3 3





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x 6

A's age = 7 × 6
= 42 years.

66. (d)A does 
1

3
rd work in 4 days

B does
3

4
th work in 15 days

A = 12
B = 20

60
3

5

Total days = 
60

8
= 7

1

2

67. (b) According to question,

     

x + y = 15

x – y 3

x 9

y 6







    4
4

9

5

6

3

 Area of trapezium =

1

2
(sum of parallel sides) × Dis-

tance between the parallel sides

= 
1

2
× 15 × 4 = 30 cm2

68. (b)

P o

Q

R

T

S140
o

 QPR = 
QOR

70
2

 

 QPR +  QSR = 180o

 QSR = 110o

 QSR + RST = 180

oRST 70 

69. (b)     Loss
–25%

Profit
15%

15 25

0

3 : 5 

8  7200

1  900  2  1800

70. (b) L.C.M = 1800

Let the numbers be 3x, 4x
and 5x

L.C.M (3x, 4x, 5x) = 60x

ATQ, 60x = 1800  x =
30

 Second number = 4x = 120

71. (d)P : Q = 4
×10

 : 5
×10

Let,

40 : 50

44 : 60
10%

20%

16 480

1 30 × 10 0  = 300

72. (b)Circumference of the base of
the cylinder = 28

ATQ,2r = 28

 r = 14 cm

C.S.A of cylinder =2rh

= 2 × 14 × 17 × 

= 476cm2

73. (a)
2x

5
+

3x

10
–

3x

5
= 479


4x 3x 6x

+ –
10 10 10

 = 479


7x 6x

–
10 10

 = 479

 x = 4790

74. (c) S.I = 
P×R×T

100
= 0.16P

Compound interest

= P 

2
8

1+ – P
100

 
 
 

= 1.1664 P – P = 0.1664 P

ATQ,

0.1664 P – 0.16 P = 16.80

 P = 
16.80

0.0064
= 2625

75. (a) Sum of interior angles

= (n –2) × 180o

ATQ, 2700 = (n – 2) × 180

 (n – 2) = 15  n = 17

Number of diagonals

=
n(n – 3)

2
=

17(17 – 3) 17×14
 = 

2 2

= 119

D-ENGLISH COMPREHENSION

76. (a) The incorrectly spelt word

is “Entreprenure”. The

correct spelling is

“Entrepreneur” (dksbZ O;fDr

tks •qn dk fctusl 'kq: djrk

gS), which means a person

who starts and runs a

business, taking on

financial risks in the hope

of profit.

Other correctly spelt words:

Supersede (fdlh pht dks

fj Iy sl djuk) means to

replace something,

especially something older

or outdated.

Disappear  (vpkud fn[kuk

can gks tkuk)  means to cease

to be visible or to vanish.

Vicinity  (vkli kl dk

bykdk) means the area near

or surrounding a particular

place.

77. (d) “Conceal” means to hide

or keep something secret

(fdlh pht dks Nqikuk ;k xqIr

j•uk)

Other options:

“Endorse” (leFkZu djuk)

means to publicly approve

or support some-thing.

“Raise” (c<+kuk ;k mBkuk)

means to lift something or

bring up a topic for

discussion.

78. (c) “between” is used for two

entities, whereas “among”
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should be used when

referring to more than two

people.

79.  (b) Placate  ('kkar djuk) means

to calm someone down or

make them less angry by

satisfying their demands.

Its opposite is Enrage

(xqLlk fnykuk), which means

to make someone extremely

angry or furious

Propitiate (çlUu djuk)

means to win or regain

favour by doing something

pleasing

Appease ('kkar djuk) means

to pacify or satisfy

someone, often by giving in

to their demands

Conciliate (eukscy c<+kuk)

means to stop someone

from being angry by acting

in a friendly way

80. (b) Doze means to sleep lightly

or take a short nap (gYdh

>idh ysuk)  Similarly,

Nap means a brief period

of sleep, usually during the

day (NksVh >idh)

Be awake means to not be

sleeping or to stay alert

(tkxrs jguk)

81. (b) Quibble means to argue or

complain about small,

unimportant details

(NksVh&NksVh ckrksa ij cgl djuk)

 Similarly, Grumble means

to complain in a low,

unhappy voice (cM+cM+kuk ;k

f'kdk;r djuk)

Reason means a logical

explanation or justification

(rdZ nsuk)

Investigate means to

examine something

carefully to find out the

truth (tkap djuk)

Plaudit means praise or

approval (ljkguk)

82. (b) Cold turkey means to

suddenly stop a bad habit

or addiction (vpkud fdlh

cqjh vknr dks NksM+ nsuk)

83. (b) The correct order is CDAB.

C introduces Fotik and his

recent learning of the job.

This sets the scene.

D introduces Upen Babu

and his helpful nature,

suggesting a reason why

Fotik might be in this

situation.

A describes the agreement

made regarding someone –

being fed, paid, and given

accommodation.

B states that a month's

salary was paid in advance,

which would logically follow

the agreement being made.

84. (c) “Pragmatic”  (O;ogkfjd)

means dealing with things

sensibly and realistically,

focusing on practical

solutions rather than

theories or ideals.

“Utopian” (vkn'k Zo knh)

means idealistic and

impractical.

“Sublime” (mRÑ"V ;k egku)

means of great beauty or

excellence.

85. (b) “Effervescent” (mRrsftr)

means lively, full of

energy, and enthusiastic

“Introverted” ('k k a r)

means shy or reserved

“Rowdy” (minzoh) means

noisy and disorderly

“Brazen” (cs'keZ) means

bold in a rude or

shameless way

86. (a) no substitution

“In whom” is the correct

because “whom” is the

object of the preposition

“in” (referring to the group

of leaders in whom trust

is placed).

87. (c) Quell means to suppress

or put an end to

something, especially

emotions, forcefully ('kkar

djuk ;k nckuk)

Smash means to break

something into pieces with

force (rksM+iQksM+ djuk)

Quiet means the absence

of noise or disturbance

('kkar gksuk)

Put out means to

extinguish something, like

a fire (cq>kuk)

88. (c) The subject of the

sentence is "A sharp fall",

which is singular.
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The verb should agree with

the singular subject.“So,

instead of "have led", it

should be "has led".

89. (a) The correct sequence is

SRQP.

S: Defines patriotism

negatively – “means hatred

for other countries.”

R: Introduces the argument –

“but this type of patriotism

is an evil and it.”

Q: States the reason – “should

be condemned because.”

P: Concludes with a broader

perspective – “today man

belongs to the whole world

90. (a) The incorrectly spelt word

is “religiuos”. The correct

spelling is “religious”

(èkkfeZd) , which means

relating to or believing in a

religion.

Other correctly spelt words:

Precious (cgqewY;) means

highly valuable or

cherished.

Carefully (lko/kuh l s)

means with great attention

or caution

91. (d) At the very last minute

(fcydqy vafre {k.k esa)

At the eleventh hour

means something

happening at the very last

possible moment, just

before a deadline or too late

to delay further.

ANSWER KEY

1. (c)

2. (c)

3. (c)

4. (c)

5. (a)

6. (a)

7. (c)

8. (a)

9. (c)

10. (b)

11. (d)

12. (b)

13. (a)

14. (a)

15. (a)

16. (a)

17. (b)

18. (a)

19. (d)

20. (a)

21. (b)

22. (c)

23. (d)

24. (b)

25. (c)

26. (d)

27. (c)

28. (c)

29. (b)

30. (a)

31. (b)

32. (d)

33. (a)

34. (c)

35. (d)

36. (c)

37. (a)

38. (a)

39. (b)

40. (b)

41. (b)

42. (d)

43. (c)

44. (a)

45. (c)

46. (c)

47. (b)

48. (c)

49. (a)

50. (c)

51. (a)

52. (c)

53. (b)

54. (b)

55. (c)

56. (d)

57. (d)

58. (b)

59. (d)

60. (d)

61. (c)

62. (d)

63. (c)

64. (b)

65. (d)

66. (d)

67. (b)

68. (b)

69. (b)

70. (b)

71. (d)

72. (b)

73. (a)

74. (c)

75. (a)

76. (a)

77. (d)

78. (c)

79. (b)

80. (b)

81. (b)

82. (b)

83. (b)

84. (c)

85. (b)

86. (a)

87. (c)

88. (c)

89. (a)

90. (a)

91. (d)

92. (d)

93. (a)

94. (c)

95. (d)

96. (c)

97. (a)

98. (d)

99. (c)

100.(d)

92. (d) Little has to be said in this

matter.

Active Voice: Subject +

have to + say + Object + (in

this matter).

Passive Voice: Object + has

to + be + said + (in this

matter).

93. (a) Vanquish (ijkftr djuk)

means to conquer or

subdue completely, often

implying the exertion of

control or domination over

something or someone. Its

opposite is “liberate” (eqDr

djuk), which means to set

free.

“Measure” (ekiuk) means

to determine the size,

amount, or degree of

something.

“Engage” (dke ij yxs jguk)

means to participate or

involve in something.

“Instill” (Mkyuk ;k fodflr

djuk) means to gradually

introduce an idea or feeling

into someone’s mind.

94. (c) Article “The” is used with

country names that include

words like “states,”

“kingdom,” “republic,” or

“union”.

95. (d) Passive Voice: May +

Subject (“You”) + be form

(“be”) + past participle

(“blessed”) +prepositional

phrase (“with health and

happiness”).

Active Voice: May + Subject

(“God”) + base verb (“bless”)

+ object (“you”) +

prepositional phrase (“with

health and happiness”).

96. (c)

97. (a)

98. (d)

99. (c)

100.(d)


